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Solve the Initial Value Problem ' —
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dy 4dx+y / ‘;Z i
fo— S Solve the differential Equation % = [# points]
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@  Solve [sin(xy)+xycos(xy)+2x |dx+ [x2 cos(xy)+2 y] dy=0

[10 points]
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[10 points]
1 3 15 7
a) Find the Reduced Echelon form of the Matrix [2 4 22 8}
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b) Use part a) to solvé the Linear System
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(8)  If the Gaussian-Jordan method is used to solve the linear system: ' [ 7 points]

y=-2x-2z+1
X=-2y—z+2
z=x-Y,

a..

b , then a+b+c=
c
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We get the matrix 0 1
0 0

@)

B) 2
C) -3
D) -2
E) 3

(9)  Which one of the following statements is “False” about the nXn matrices A, B and C:

A)  (4B)C=4(BC)
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B) (4+B)C=AC+BC

¢ (4+B) =4 + AB + BA+ B’

If AB=0, theneither A=0 or B=0

E) (4-B) =A4*-AB-BA+B’
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